Matching Brackets

1. Cut out the expressions and match them into pairs
2. Hand out an expression to each pupil and get two pupils to 

stand up and the class has to add or subtract the expressions.
	2 (2x + 2)
	15 – 20x
	2 (2x + 2)
	15 – 20x

	3 (x -1)
	4x + 6
	3 (x -1)
	4x + 6

	4 (x + 4)
	8 + 8x
	4 (x + 4)
	8 + 8x

	2 (2x + 3)
	4x + 4
	2 (2x + 3)
	4x + 4

	4 ( 4x – 3)
	4x + 16
	4 ( 4x – 3)
	4x + 16

	2 (3x – 4)
	15x +3
	2 (3x – 4)
	15x +3

	3 (3x + 2)
	3x –3
	3 (3x + 2)
	3x –3

	4 (2 + 2x )
	12x +6
	4 (2 + 2x )
	12x +6

	3 (5x + 1)
	4x + 12
	3 (5x + 1)
	4x + 12

	5 (3 - 4x)
	6x – 8
	5 (3 - 4x)
	6x – 8

	3 (4x + 2)
	16x –12
	3 (4x + 2)
	16x –12

	2 (4 + 2x)
	9x + 6
	2 (4 + 2x)
	9x + 6


